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OESA=ES (SH &)
2. 24 - BB O9(30) - HRAY - BAS ol ke G o HlmS2
=ofiOrsSS 2 2| A A 2Y 43,000
RO sS=Lel+8EE= 12,000
RO s= L2 ALK X 2ld| 201,000
OtZ2IIIH XIS H S (XIS 2EZIEXI) 1,073,000 1,935,180 A862,180
403 REXISHHIS K201 & 1,073,000 1,935,180 A862,180
01 AIXISHH 22X 1,073,000 1,935,180 A862,180
COLZ2I Pt K SHUS(RISH2ERIER) 1,073,000
OLE2DtHRISHUHS (A ZMFLHE A 2I) 1,170,000 1,170,000
308 AHXIHMSOIH 1,170,000 1,170,000
01 IXSHHBLERS 1,170,000 1,170,000
CIOFZ2I Pt K S H U S (Al S M L HI ALK
Xel) 1,170,000
OFZ 2ot XIS EUS (M HSEr2 I 22]) 65,000 117,000 A52,000
308 AXISHMSOIA 65,000 117,000 A52,000
01 XIXIEHHBAE LS 65,000 117,000 A52,000
CIOt= 2|t KNI SE U S (RItSEr2 | 22l) 65,000
HECYHoEH 4,5%6,328 3,561,900 1,034,428
CAMEHSSRAAL 3,137,428 2,770,500 366,928
403 XX SHHMS K201 3,137,428 2,770,500 366,928
01 XX SN A= E X 3,137,428 2,770,500 366,928
OSAIMESSJALS 3,137,428
MEH MBI AXIS A (I 2HEEE) 52,000 39,000 13,000
308 AHXIHMSOIH 52,000 39,000 13,000
01 IXSHHBAEERS 52,000 39,000 13,000
OZscUsidsd=ry 52,000
MEIHAMBIAXI SR (BMESA) 54,600 54,600 0
308 AXISHMSOIN 54,600 54,600
01 XX B E LS 54,600 54,600
OEMESAIS 54,600
MENH WSt S E| XA 352,300 319,800 32,500
308 AHXIHMSOI & 352,300 319,800 32,500
01 AXIEHBAEES 352,300 319,800 32,500
[JMERH WSt S & XIAHY 352,300
MBCILALEMALY 150,000 120,000 30,000
308 AHXIHMSOIH 150,000 120,000 30,000
01 IXSHHBAEERS 150,000 120,000 30,000
CMERH WSS (IIAIE - AHUHBS)EIXI
At 150,000
SAE2& 2 790,000 158,000 632,000
403 REXISHHIS K201 & 790,000 158,000 632,000
01 AIXISHHXE2E X 790,000 158,000 632,000
O=2lUISNES KSR E=R=SH 790,000




=N SHFL
HEHHEN - Ze|dsH(EE /Xt
stddo2d CHe &2l
2 2A - B B9I(E) - AIRAY - BES of v G o HIDE2
XeEd2el (XHH) 60,000 100,000 240,000
308 XXM SOIA 60,000 100,000 240,000
01 XN B2 LS 60,000 100,000 40,000
OEZ=clUsAdEHE 60,000
SIIBNEE A AL (BE/HDI) 213,137,411 230,887,234 A17,749,823
AS XN SoHSHAS 188,772,231 203,120,054 14,347,823
HNSUHESHEHOECHHS 92,243,040 100,900,600 8,657,560
403 THXI M SAH=01 ™ 92,243,040 100,900,600 8,657,560
01 AR A =2 £ 92,243,040 100,900,600 8,657,560
OIS ES 92,243,040
A NSIHESHEMI TS 39,595,500 19,187,500 20,408,000
403 MR HHMSAH=01H 39,595,500 19,187,500 20,408,000
01 AXISHHA 22 % 39,595,500 19,187,500 20,408,000
RSN SN Lt=, 39,595,500
AR NS ILA M Z AL (KH2) 48,508,832 15,187,405 33,321,427
403 AXIEHHSAH=201d 48,508,832 15,187,405 33,321,427
01 MHXIHHA 22X 48,508,832 16,187,405 33,321,427
U2 RUMHEA NS AL 48,508,832
SHIARNESIAIRERNES= 27,859 27,749 110
403 TR M SAH=01H 27,859 27,749 110
01 AR A =2 £ 27,859 27,749 110
OEsiREnaExdssaz 27,859
01210l S & XM |LPGRHS & X & AHS 169,000 773,500 604,500
403 MR HHMSAHE01H 169,000 773,500 604,500
01 AXISHHA 22 % 169,000 773,500 604,500
L0210l S&EXHELPGRT & 2t X 2 169,000
HIINSAH2ESHI LXK FA 48,000 150,000 102,000
403 AXIEHHSA=01d 48,000 150,000 A102,000
01 MHXIHHA 22X 48,000 150,000 A102,000
O&EIISxH2EEE 4
&0d) 48,000
FASHAE XX ALY 8,180,000 8,180,000
403 X SHHMSAH=01H 8,180,000 8,180,000
01 XIS A =2 & 8,180,000 8,180,000
=2 nSSEIIKAE 8,180,000
sEg=dael 18,117,868 20,197,624 N2,079,756
oI s8¢Lx=d 52,000 78,000 /26,000
403 MR HHMSAHE01H 52,000 78,000 /26,000
01 HXIHHA 22 52,000 78,000 A\26,000
O eE=83Y1=29 52,000
SIELNBBLR(F2=) 75,000 75,000
403 AXIEHHS X201 75,000 0 75,000




e SN BRFHD
DHHSEATL (/U
BRFLE =T UL (Gt H2)
SA - ZE . B9(0) - ARAY - BAS of v G o HIDE2
01 AXISHHA =22 & 75,000 0 75,000
Osdssd2ELi 75,000
S AR X KN Z AL 260,000 390,000 130,000
403 MR HHMSAHE01H 260,000 390,000 130,000
01 MHXIHH A 222 260,000 390,000 130,000
U= THEIAH XM 2 AR 260,000
IHEEN=SAZLES A 448,848 1,387,224 A\938,376
403 AXIEHHSAH=201H 448,848 1,387,224 A938,376
01 XIS A=E £ 448,848 1,387,224 938,376
[(DIEEMd=ASLHAESAY 448,848
CHOTEIN S ALY 503,000 431,000 72,000
201 er23| 63,000 59,000 4,000
01 At2tltl 20,000 16,000 4,000
eS| 15,000
OAEE2IMsSHERL! 2,000
OUIMZAUNSREsSE= A 13,000
U=g=¢ 5,000
OOIMSRISER ST 3,000
Ozl gzl 2,000
02 S3=gHl 43,000 43,000 0
OAIZ EHI=XH 43,000
OZ o= 2dMetdSAIAER A2 43,000
207 ARl 200,000 200,000
01 H1ESHI 200,000 200,000
LIOIMH X 2SI Al A 2R T | 28 22 Al
p EPS Rt 200,000
403 AXIEHMSAH=0ld 240,000 372,000 /132,000
01 A= 2L 240,000 372,000 132,000
OZAOIMEH XS S22 EAS 207,000
LO0IMEX A S SEXR 33,000
OIAISHAEEHEH P EA 20,520 0 20,520
403 TR M SAH=01 ™ 20,520 20,520
01 AXISHHA=2EXE 20,520 20,520
LOIMEHX EHEHF A 20,520
SAHEOIMSHXIHL XA 60,000 60,000
403 AXIEHMSAH=0ld 60,000 60,000
01 A= 2L 60,000 60,000
UOSAE0IME XN X2 A 60,000
SHO0IEXMCIXZE 16,698,500 17,911,400 A1,212,900
403 AXIEHHSAH=01d 16,698,500 17,911,400 A1,212,900
01 AXISHHA=2 2 16,698,500 17,911,400 A1,212,900
OO0 EMI X (XEZH]) 16,698,500
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